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Pemnre cucteMy ypaBHEHHH

1.a

) 4x —log, y =—12,
4x +log, y =—4.

7x +log, y = —26,
7x —log, y =—30.

logy+2(x+3) 1, logy 7(x+4) 1,
x*—3y=7. x%-2y=-—

3. a) logs x +logs y+y =2, 6) log8x+log4y+3y 11,
' logs x +log; y — 2y =-7. logg x +log, y +y =3.
lo 2, lo 4,

4. 2) 87 XY = 6) g2 (xy) =
x+y+50=0. x+y+17=0.
5. a) logs x —log, y =3, 6 log? x +log, y =—1,
.a
log; x —log, y =1. 3log: x +1og, y =1.
7log: x —3y =4, 4loggx+3y=-7,
6. a) 6)
2logs x —5y =-3. Sloggx —9y =4.
logs (—5xy) —logs x =1, log,(— 81xy)—log3x 4,
7. a) 6)
xly=-26 xly=-—
log, 5=—4, log, 3=7,5,
8. a) Y 108, 6) Y 108,
y +log, 5=7,5. y +log, 3=6,5.
4lo =lo 4lo =log, x*,
9. a) g, Xy =log; x 6) 84(xy) =log,
2x+3y=-20 S5x+2y=12.
2log, x=y —4, 3log, x=y+1,
10. a) 83 Yy 6) &2 X=Y
g, 3=y—3. 2log, 2=y +2.

(log3 x—2) (log1 y—1)=0,
log1 (x—2)+logs(y —1)=
6 (log2 x—2) (log1 y—-3)=0,
log1 (x+5)+log,(y—3)=
log9 x +logy y =logy 4+ log9
logy(x +y) =logg 12.
logg x +loge y =log, 2 +logg 3,
loge (x + y) =log S.

12, a)

m

6)




[image: image2.png]i3.a

14.

15.

16.

17. a

18.

19.

20.

21.

22.

a)

6)

a)

6)

a)

a)

a)

a)

a)

O\

)

a)

d
;
;
{
|
{
{
g
|
|
{
{
|
{

x*+2log, y =6,
3x+2log, y =8.

log;(3xy) —log;(—3x) =2,

log, (Sxy) log3( 5x)=2,
x*+5y+41=0.
(x-=2)(y —-3)=0,

d

x*+3log, y =22,
S5x +3log, y =26.

log,(x+y —3) +log;(1 —xy + y) =log, x,

(x-7)(y—4 =0,

log,(x+y—4) +log;(—3—xy+6y) =log, x.

o

(2x —3y)log:(3x+2y —7)=0,

Slogg x —log, y =4,
7logy x — 2log, y =5.

4x —y
3x+2y—8

(5x — 7y)logg(6x y—3)=0,

o
o

log, 5+1log, 7=3
logs x+log, y = 3
log, (y —3) =1,

log, (x —9)=1.

(y —4)log; x =9,
(y—4)log, 3=1.
logy,—3, (4x—y) =1,

6

A

Slog, x —2logs y =3,
2log, x —3logc y=—1.

log, 2+1log, 3=—
log, x +log; y = 3.
log, (y+3) =1,
log, (8 —x)=1.

(y +3) log, x=36,
(y+3)log, 2=1.

log;(2x —3y) -log,(3x+2y) =0.

1084y 47y (9% +2y) =1,

log: (4x+7y) -logy(6x —5y) =0.

(x—=5)(y—4(x-9)=0,
log,_,5-log:(y —3)=2.

o

(x+6)(y—6)(x—8)=0,
log,,,15-log,(y —5) =2.
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23.2){ G -6 -7 _, 0)1 4= -10 _
log,_,(y—5) ~ log, s(y—2)
logs(x —7)-log,(y —3) =0,
24. a) 2x+y 4
x-8)(y-2)~
log,(x —1) -log;(y —14) =0,
6) 3x+2y _5
(x-2)(y—-12)
logs (2x +3y)° =6, log,(4x —7y)* =4,
25.2) { 2x—3y+15 _ ) 6) 4x+7y—28 _,
2x+3y-5 ~ “ 4x—-T7y—4




